STNY
NLETTT

B & =
BMEa—F K54700
i L THW7030

HMaAtERExX  THWT7030-03

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



THW?7030
FR—/\-RA 2R

INMETI)TY

26

&S| 55 5 B H 4 i) A% T
1 | 1554831004 Ko —/_C P 1
2 | 1560090004 EvyFCP 1
3 | 1556250004 tvyFH; 60 1
4 | 155618000M FL—hk 1
5 | 087024100M R—AYHR—FCP 1
6 |BSZ10035 afHZRLE 7 M10X35 2
7 | WSA10 NEXPFHX 33d7 M10 2
8 |Nsz10 afXZFvyh 8 232 M10 2
9 | BZ16050 ALk 8.8 M16X50 8
10 |NUZ16 Ulrvyh 8 M16 8
11 | WSAl6 NxYPHx 337 M16 8
12 | PSO80050W AT Ty XT7Nday 8X50 1
13 | PS050050W ATV Ty XTIy 5X50 1
14 | 1530830000 NUTX; ¢2X160 1
15 | NZA36 Fvh 8 132 M36 1
16 | WS36 NEYPHR 237 M3 6 1
17 | ONBS1 JV—2A=v7) B PT1,/8 1
18 | BZ20180 ALk 8.8 M20X180 3
19 | NZ20 Fvh 8 2v=2 M20 3
20 | WSA20 NxYPHx 337 M20 3
21 | 1438100000 1.2 1
22 | 1478570004 2K RKCP 1
23 | 147858000M [V 1
24 | 000738000M JoFEY ;6 1
25 | 162782000M Vo7 Fx—2r; 13X80PX25L 1
26 | 1627830000 Y¥w /N, TS—2. 5t 2

-1-




THW7030

BAXN-OxTDY

INMETI)TY

e I R s B mi 4 i) A% T =
1 | 1556030004 ¥/ CP 1
2 | 1555050004 |ANTYFTYTI/CP; 1410L 1
3 |1342822004 | ANTVHRI¥TYIZ/CP; 1410R 1
4 | 0754683004 L CP 2
5 10730921000 A KL 4
6 | 128113000M Tyivy; 21X65 2
7 1066208100M Jyiy; 51X3. 2 6
8 | ONAS1 JV—2=v 7L A PT1,/8 2
9 | BZ16050 ALk 8.8 M16X50 8
10 |NUZ16 Urvyh 8 M16 8
11 | WSA16 NxYPHx 337 M16 8
12 | BZ20045 ALk 8. 8 M20X45 2
13 | WSA20 NAYPHx 337 M20 2
14 | 1482801000 A%/ :550/60—22. 5 12PR L TL| 2 | R16~18H Lk
15 | 1482811000 AL%73:550/60—22. 5 12PR R TL| 2 | R16~18H 7k
16 | 1436220000 4% :550,/60—22. 5 12PR 2
17 | 1626370000 % 2
18 | 1482700000 KA—/N;16. 00X22. 5 2
19 | 1455430024 |7 4
20 |J32211 T—u—I_X7 U7 ;32211 4
21 | J32215 T—a—I_X7 Y7 ;32215 4
22 | 1455430050 Vrqa=v 7007 4
23 | 145543006M VA7 A7 A4 BN 4
24 | 1455430070 A7)y hEYV 4
25 | YX307F053 NT Xy T 4




THW7030

BAXN-OxTDY

NFTI3TY

A& 5 s & 5 B i 4 i A% T
26 | 1455430110 KZ LxA v 4
27 | YX309F010 AR ;M20X1. 5X62 32
28 | YX312F023 AA—nF v bh; M20X1. 5 32
29 | YX329F083 KA —NT v ; M2 0 32
30 | GNBOSF JY)—Z2=vyF)L B M8X1. 25 4




THW7030
JL—L-HYR—+

INMETI)TY

e I R s B mi 4 i) A% T
1 | 1627610004 71 —ALCP 1| ST
2 | 1627630004 HFHR—KCP; F 1
3 | 1627640004 PR —KCP ; RE 1
4 | BZ16040 ALF 8.8 M16xX40 10
5 | WSAL6 NEPHEX 337 M16 10
6 |NZ16 JFvh 8 2v2 M16 10
7 | 1548780003 AT —CP 1
8 | 154893000M oy KCP ;1 2
9 | 154896000M oy KCP ; 2 2
10 | 155620000M =Ny 7 )L s M2 0 2
11 | BZ20080 ALk 8.8 M20X80 2
12 | BZ20045 ALk 8. 8 M20X45 2
13 | BZ20060 ALk 8.8 M20X60 2
14 | WSA20 NEYPHF 337 M20 6
15 | NUZ20 Urvyh 8 M20 4
16 | NZ20 Fvhk 8 2¥2 M20 4
17 | 1548910003 x 7k 1
18 | 1548920003 T T 2
19 | 1548900003 AT 2
20 | 066080100M Ty 41X3. 2 2
21 | 70B-4040 RIAAY F T wia 40X44X40 4
22 | PC0O80063 JUEL 8X63 2
23 | 1555490003 777 hCP ; F 1
24 | 1555540003 777 v hCP ; Re 1
25 | BZ16035 ALk 8.8 M16X35 4

-4 -




THW7030
JL—L-HYR—+

INMETI)TY

A& 5o 5 B i A i % fii
26 | BZ16050 ALK 8.8 M16X50 6
27 | WSAL6 NExYPHx 337 MI16 10
28 | NZ16 Fvh 8 232 MI16 10
29 | 066142000M VA 4
30 |BZ12035 ALk 8.8 M12X35 8
31 [ WSAl2 NEXPFHX 33a7 M1 2 8
32 |NZ12 JFvhk 8 2v=2 MI12 8
33 | 154873000M | HA RKCP ; F 1
34 | 154887000 |#HA FKCP ; Re 1
35 | BZ12035 ALK 8.8 M12xX35 6
36 | BZ12030 ALK 8.8 M12xX30 6
37 | WSA12 NREYPHx 337 M1 2 12
38 |NZ12 Fvk 8 2v=2 M12 12
39 | 135044000M n—7 ;1 2
40 | 056846100 | W T —; 35X6 2
41 | 135045000 | HTF—; 35. 7X52 2
42 | J6207LLU R—=N_7VY27 6207LLU 4
43 | DHCOT2 CHAMAT TF 72 4
44 | 000739000M JoFEr ;9 2
45 | 0883581004 ' CP 2
46 | 088360100M n—7; 2 2
47 | 058125200M Ty 26X2. 3 2
48 | 0751270000 T — 2
49 | BSZ10030 affERNLE 7T M10X30 4
50 [ WSA10 NEZHFHX 3d7 M1O0 4

-5-




THW7030
JL—L-HYR—+

NBZTITY

AHER| B oM & B il i 4 i [EES fii
51 |NSZ10 affHZFyh 8 2¥=2 M10 4
52 | 066208100M Tyl 51X3. 2 4
53 | PC080063 JYUEY 8X6 3 4
54 | 1548830003 77y hCP 2
55 | BZ16040 ALk 8. 8 M16X40 12
56 | 078880100 |/ NATF>TUwi ¥ : 16 12
57 | WSA16 NxYPHx 337 MI16 12
58 |NZ16 JFvhk 8 2v=2 MI16 12
77 | 1296831000 T NUTY A F 204 1
78 | 1339800000 STAR~—Z7 7L ; 80 2
79 | 1064690000 S~V A ay 55 1
80 | 1511350000 SV AL a s 222 1
81 | 1579830000 TYL s AAX T TXRT V225 1
82 | 1511550000 TGV r A a s 242 1
83 | 1600840000 TV kA B a U 1
84 | 1601500000 FGAYL s wray Yy R 1
85 | 1601510000 7~ ;1 5km,/h 1
86 | 1627410000 FoYL s ¥ray3. 85m 1
87 | 1607820000 FYL s B 77 2. 80m 1
88 | 1624880000 Tl kXY A Yay 7000 1
89 | 1511790000 TYL r A a7 266 2
90 | 1511830000 T -4 ar 270 1




THW7030

INFR)L-TERAR

INMETI)TY

AHES| W oM F B B i 4 i (EE T
1 | 8041791003 7y b JLCP 1
2 | 8041831003 U Xz CP 1
3 | 1555250003 | A K/XR/LCP ; L 1
4 | 1589890003 |HA K/X%/LCP ; R 1
5 | 1177871003 AR FLFILCP 1
6 | 1556260000 ZFL—k 2
7 | 1556270000 Tl —F ;M 2
8 | TPB06012 FREZyELRY B—1 6X12 80
9 | BZ12030 ALk 8.8 M12X30 64
10 |NZ12 JFvhk 8 2v=2 M12 64
11 | WSA12 NEXFHX 33d7 M1 2 64
12 | 1589910003 K7 CP 1
13 | 158993000M RIVECP 1
14 | BZ06020 ALk 8.8 M6X20 2
15 | BZ06016 ALk 8. 8 M6X16 4
16 | NP06 ATV Fy b M6 2
17 | WS06 NEYPHR 237 M6 4
18 | 091298000M Ty 6 2
19 | 8006500000 IALFL—h 1
20 | 8006490003 ZFL—k 1
21 |BSZ10035 afHERNLE 7T M10X35 10
22 | NNF10 7704y b M10O 10
23 | 1061641000 TV A ay 1 1
24 | 158987000M =% 1
25 | 158988100M | 7> L 1
26 | 067032100M ATY T 1
27 | PS030028 AV Y 3X28 1
28 | WRA12 IR M1 2 1

-7-




THW7030

HIN—

INMETI)TY

14650-1 >

066-0063-0003-00

~

~
~

S

e I R s B mi 4 i) A% T
1 | 8041590000 HN—; F 1
2 | 8041670000 HR3—; RE 1
3 1 804162000M FL—k 1
4 | 804169000M FL—k 1
5 | NNF10 774y b M10O 7
6 | 8042060003 ZFL—k 2
7 | 055474000M BT FARILE ;M8 X 20 4
8 | NSPO8 aANHEATV Ty~ 4 M8 4
9 | 804187000M 7L —FkCP 1
10 | 804171000M 7L —FkCP 1
11 | 804188000M FL—k 1
12 | NNF10 75 FAurFyh M10 6
13 | 8041990004 777> hCP 2
14 | BZ06010 ALk 8.8 M6X10 4
15 | WS06 NEYPHR 237 M6 4




THW7030

oI Yoy

INMETI)TY

22

A& 5 s & 5 B mi 4 i) A% T =
1 | 1177910300 TUYLHECSOTEX1740%X2010 2 | R34fF
2 8041030000 T ayXy; 3,4 1
3 |BSZ10110 afAZKRLE 7 M10O0X110 3
4 | 075290100M Jvi¥ ;10 3
5 | 044098500M Tyiv ;10 3
6 | WSALO NEXPFHX 337 M10 3
7 |NSZ10 afHFv bk 8 2va2 M1O0 3
8 | 8041040000 FALT4NE 3,4 1 | FL35, 367
9 | BSZ10025 aFHRLE 7 M10X110 2
10 | 044098500M Uy ;10 2
11 | WSA10 NEXYPHF 337 M1O0 2
12 8041050002 Frzv VT 5 1,/2 2
13 |1013-08 K—A=v 7NV PF1,/2XPT1,/2 1
14 [1013-12 R—A=v 7N PF3,/4XPT3,/4 1
15 [1016-12 R—AAAL~)L PF3,/4XPT3,/4 1
16 [1033-08 AR—AxT)R PF1/2XPT1,/2 2
17 [1035-08 AR—AxT)R45 PF1/2XPT1,/2 6
18 |2083-08 =v 7N PT1,/2 3
19 | 2083-12-08 =) PT3,/4XPT1,/2 1
20 | 2086-08 )R PT1,/2 2
21 |2091-08 T4— PT1,/2 4
22 |KHO800425PP |27 Vik—A 1,/2X425 4—4 2
23 | CLF40M Hh7Z A PT1,/2 1
24 10007781000 N7T7xxv7 51,2 1
25 | KHO803500PP | =7 YA —A 1,/2X3500 4—4 2

-9-




THW7030
T oH

NFTI3TY

A& 5o 5 B i A i % T =
26 | KHO808000AP | =7 YA—A 1,/2X8000 1—4 1
27 | 066082000M 7707 A 7
28 | BSZ08020 afHERLVE 7T M8X20 7
29 | NSPO8 AFEATY T Fy N 4 MS 7
30 | ONBS1 sV —2=v 7L B PT1,/8 2
31 | ILT200 Aauy I HZA 4., TX202 2
32 0749681000 AL FGNNF2—7 ;500 1
33 | 1281680000 AL FGNF2—7 ;100 2
34 1177910310 —LF oy 2
35 8041130000 TL AR 10 1| 822 i
36 | 8041140000 =)y b T 4K 1| 55858 FER L
37 | 163337000M TANETAT T 7 1,/ 2 2

-10 -




THW7030 /N &> T3>

ooy

A& 5 s & 5 B mi 4 i) A% T
1 |1627810000 Ko /X4 7CP 2
2 | 1556060000 X272k —ACP 4
3 11013-02 AR—Z2=v 7L ;PF1,/8XPT1,/8 4
4 | EWK869932 SFY*¥7;1,/8 4
5 | EWK869935 LFY¥75 1,/8 12
6 | ONBS1 sV —2=v 7L B PT1,/8 4
7 | 1556740000 R84 7CP ; F 1
8 | 1556750000 R34 7CP ; Re 1
9 | EWK866101 Fa—TrT707 (4X1) 10
10 | CP05008 +F_axry M5 X8 10
11 | Wso5 NRxHPHx 297 M5 10

-11 -




THW7030 /N &Z>TJJ3>
THOR)LAOyY

T

-
J

065-0063-0001-00
A DETAIL

A& 5o 5 B mi 4 i) % T =
1 | 1557180000 UYL HE CWP65X475X695 1 | .46, 47fF
2 | 1556071004 FANEZLCP ;4. 5L 1
3 | BSZ10025 afAZRLE 7T M10O0X25 4
4 | WsA10 NEPFHEX 3327 M1O0 4
5 |NSZ10 afXZFyh 8 232 M10 4
6 | 155612000M H/X—CP 1
7 | BSZ08020 afHARLE T M8X20 6
8 | WSA08 NEXFHX 33U MS 6
9 | 154902000M FLCP; F35X130 1
10 | BZ12025 ALk 8.8 M12X25 1
11 | WSA12 NRAYPHx 337 M1 2 1
12 | 154903000M > CP ;S 1
13 | 126355000M vy ; 13X6 1
14 |BZ12025 ALk 8.8 M12X25 1
15 | WSA12 NEYPHF 337 M1 2 1
16 | KHO600600PP |7 YA —A 3,/8X600 4—4 1
17 | 1035-06 AR—AxT)LR45 PF3,/8XPT3,/8 3
18 | 114789000M ANy TN T 5 3,/8 1
19 | KHHO600650PP | = 7>YH 210 3,/8X650 4—4 1
20 | 2091-06 74— PT3,/8 1
21 |2086-06 )R PT3,/8 1
22 | 2083-06 =v 7NV PT3,/8XPT1,/4 2
23 | 112156000M RISV 1,4 1
24 | CLF30M Hh7T7 FA PT3,/8 1
25 | KHO600600DP | =7 YdH—A 3,/8X600 S901—4 1

-12-



THW7030 /N &Z>TJJ3>
THOR)LAOyY

T

-
J

065-0063-0001-00
A DETAIL

RHES ) B n F 5 W odn A W %% ] il

26 | 1035-06 R—AxT/NR45 PF3,/8XPT3,/8

27 12086-04 )R PT1,/4

28 | 112156000M YARUNY 14

29 | KHO400500AP | =7 YA —A 1,/4X500 1—4

30 | 1033-04 A—AxT/HR PF1/4XPT1,/4

31 10009820000 M10777 ; "yFoox

32 10009800000 ITTXFYXFayatl  NyFVFk

33 | 154901000M 7'L— |

34 | BZ12035 AR 8.8 M12X35
35 | WSA12 NEXYPHTH 397 M1 2

36 |NZ12 Ty h 8 2v=2 MI12

37 | 154900000M 770 vh;3/8

38 | BSZ08020 aJEFRNLVE T M8X20
39 | NSPO8 aAHFATY) Ty~ 4 M8

40 | 155623000M L /R—

41 | 1556241000 7'L— b

42 | BSZ10035 aBHERLE 7 M10X35
43 | NNF10 77 AurFy b M10
44 | 154882000M A7V H2., 6X32X140
45 | ILT380 Afany XA 7. 5X382
46 | ONAS1 J)—A=v 7L A PT1,/8
47 | ONCS1 JY)—A=v7F)L C PT1,/8

— === = w|w|= =[N [N ==

48 | 0007761000 W TTxxv7; 3,8

-13-




THW7030

N E

INMETI)TY

&S| oS & 5 B H 4 i) [EE T
1 | 1603681000 rKyvaryo4 -, 2PG 2
2 | CP03016 +F5_RaxyY M3X16 4
3 | WRAO3 v 7P HFR M3 4
4 |NNO3 FTAurFv Rk M3 4
5 10009600000 NV FR  W—60CT (ST v FM5f]) 2
6 | 1627691004 A7—CP; L 1
7 |1627731004 Z7—CP ;R 1
8 | BSZ10070 afFHARLE 7T M10OX70 4
9 | WSALO NEXHFHX 337 M1O0 4
10 |NSZ10 afFZFvyh 8 2¥=2 M10 4
11 | 1627760000 VY77 2
12 | CP06030 +F_axy M6 X30 8
13 | NNF06 75 VFAarFy b M6 8
14 10009301000 NV F R—150TR (ST v M5 A} 2
15 0009341000 NV X Y—60CT (STy FM5A) 2
16 | 1627770004 777 vk L 1
17 | 1627780004 777 v~ R 1
18 | BSZ10025 aBHERLE 7T M10X25 6
19 | WSA10 NxYPH% 337 M1O0 6
20 |NSZ10 afXZFvhk 8 2¥=2 M1O0 6
21 | 1627790004 7L —k 2
22 | BSZ08020 aFHRLE 7T M8X20 6
23 | NSPOS ABFEATY T Fy N 4 MS 6
24 | 080414100M Jyiy ;8 2
25 | 1627801000 o2—Fk;10500X1300 1

-14 -




NFTI3TY

THW7030
VRS

N
m
{E »
™N
e
m71221
[a\]
®lo EDN
N ja
X B
| o~ !
< o
og O
Ay — || X
B&XDD\Z
ﬁﬂyxx\w/‘y—
ANTIRIR|KC
NN
HAN| o AR
MR|R R (D
NIN|C| | A
N PN]IN]
e olo|o|o
L
—|S|S|S
2| S8 |88
N[F = =D
wlEe|lolo|lo|®m
i =l R s e
ol
Wi~ || || —
DN NN S|

-15-






nj
TH]

g

S—2400619E

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032



